Collecting Like Terms Exam Practice

Q1. Simplify the following:
a) 3x + 5x — x

Answer: ? b ¢
(2 marks)
b) 7x + 5y — 2x + 9y
oL~ + fL) +4 Y
T A ¢
kj Answer: S) + |Lt3
(2 marks)
Q2. Simplify the following:
a) c+c+c
Answer- ZQ
(2 marks)

b) —8u+5v—12u+9v + 6

-—-—g\)p-\?.\/\ +SV +4 V%é

—26u 4+ luv 4+ 6

=7 PP B =4 b
(2 marks)

Answer:
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Q3. Simplify the following:
a) 3c % 4d

(Lcd

Answer:

(1 mark)
b) 6ax5X3b X2

D x64 x15
1 Ol

Answer: 1 0, A L—“
(2 marks)

Q4. Simplify the following:
a) 4a X 5b + 7a x —2b

2020 4.l
b &l

Answer-

(2 marks)
b) 10X 3u X6 X317 X2

120 X3UXLV

| 080 WV

l 0%0 AV
(2 marks)

Answer:
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Q5. Simplify the following:

‘ 20p — 8p
2 2
=2 V2 P
L_r
Pl ‘56>
Answer-: 30)
(2 marks)
O9p —-2q+ 17p
b) 22
oo z_éf," 21
2
— |1 3p-9/
6) Answer: }‘lf %
(2 marks)
Q6. Simplify the following expression:
4xy + S5x + Txy — 2x
4y +Fx | +$ -Lx
J13y +3>¢
Answer- “ )C‘j R4
(2 marks)
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Q7. Simplify the following expression:
—5a* + 8a* + a*

@L

Answer:
(2 marks)
Q8. Simplify the following expression:
e3+ 8f%2—1+ 6e>—19f% —13
It g 5 a1
e +be L QFf _Jaf - o3
- -
1€ - JlF -4
i d e
Answer: ‘e HH’/' - /Lr
(3 marks)
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Q9. Simplify the following expressions fully:
a) 2x +3xy —41 — 5y + 12x — 11xy — 12

Lx + N« -fbfj—-Iuj -—53 4 -1
oy ¥y ~W=§7

| Sy -KBl‘j—gvj-_EJ’

Answer- ]
(3 marks)
b) 5x+ 2x— 35x
o
_ WL
w Jo &
- Y
L
Answer-
(3 marks)

Applied Mixed Practice Problems

Q10. Alex buys x stamps, Ben buys y stamps and Chad buys 3x stamps.
Find an expression for how many stamps they have bought altogether.

Z—f'b—dl
™ L +y

LYy

(3 marks)

Answer:
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Q11. Kay buys p pens, Ben buys twice as many pens as Kay, and
Rod buys 2 more pens than Ben. Work out an expression for how
many pens they have bought altogether.

p+2p+(2p+72)

S(urz

Sp+L
(3 marks)

Answer:
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Q12. Find an expression for the perimeter of the shape below, in terms
of x, simplifying your answer fully.

3x +7

4x

ﬂeﬂwﬁf = Z@)a-f‘% + (%)
= byt 1G
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Q13. The perimeter of the two shapes below are equal. For each shape,

find an expression for the missing sides in terms of x, simplifying
your answers fully.

2x + 3 3x —5

4x — 6 = >

@ Sl b -

= e~ @ ¢ (WA by & +23-(a -S
= {or -T2
[oe.ﬁ'«;-kif@ _ Tox -1t o

— & @,':‘/{_[Zo)vc-u # 2(32-—&72

== 21 T0% = = 614'\0)

f’é@sc _12)

pac 7'1"(’#

£ o

(5 marks)

Answer-
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